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. Answers may be written either in English or in
Hindi; but the same medium should be used
throughout the paper.
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Attempt all questions.
goft gt & I e
| | h it from Specula-

@) Define Investment. Distinguis
tion and Gambling.
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(b) Mr. Raman is considering two investment PIo
posals. The probability distribution of returpg On'
these two stocks in different market conditions ;"

; ¢

as follows: .

Economic | Probability of | Rate of Return % |

Conditions Occurrence ¥ Lid. Yii Z-
1 2 -10 M
D 3 25 30 |
3 -3 20 20 §
40 -2 10 10

Based on this information, calculate expected risk |
and return on both the proposals. Also suggest to
Mr. Raman which investment proposal is better.

st T A faw e W fEER W w E)
m@ﬁﬁﬁaﬁ@aﬁwmmm

anfds | ufea gW audt WM QX% |

ﬁuﬁzﬁ T WTfesdr X feto Y ﬁg____"
1 9 T 5
2 3 25 50~ i
3 3 20 20 ‘
4 -2 10 10

gqqammmmﬁaaﬁmaﬁaﬁfwﬁfﬁ;
sk gt & T i | st T w T 0'
Wﬁﬁ?mﬁ%ﬂmﬁm@l g

Scanned with CamScanner



3 3174

Or (39d)

¢ Risk. Distinguish it from Uncertainty.
iefly main sources of risk in investment.

ﬂn
- lalﬂ br

j & gftmfyd e ) AffEdar & gqe
aﬂﬁquﬁéwﬁaﬁm%ra’m‘fa?rumﬁ
| 5

3 n investor is considering investment in securities
A and B, whose details are given below:
&ty A B
gxpected return - 14% 19%
sk (in terms of Standard Deviation) 3% 6%

ﬁ a portfolio of 60% of A and 40% of B is formed,
’h d

s ) Expected return of the portfolio

Risk of the portfolio if the correlation co-
efficient is 0-5

Minimum risk of the portfolio.

T Efﬁawﬁ$ A T4 B nﬁavgﬁdﬁ'ﬁ faw &1 faur

A B
14% 19%

(Y faaem & wd A) 3% 6%

R. T:.0.
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(it e @ e SE |

2. (a) Distinguish between any two of the following:

(i) Deep Discount Bond (DDB) and Zg,
Interest  Fully Convertible chentur
(ZFCD) | |

(i) Primary market and Secondary market

(iii) Support level and Resistance level.

fr @ @ fodt S O stasle @it

() U 91 i€ (DDB) 941 Y@ AN |
Redta F9H (ZFCD) _

(i) SmufAe SINR qur-fedias arem

(ii) T TR qo WA w

(b) X Ltd. has a 14% debenture with a face valuc o

Rs. 1000 that will mature at par in 15 years.

debenture is callable in 5 years at Rs. 1140. It

currently trading in the market at Rs. 104
Calculate;

(i) Yield to Maturity (YTM) of the bond
(ii) Yield to Call (YTC) of the bond.

Xﬁiomlslaﬁﬁ“’mﬁwqﬁméﬁ
1140 %o W 5 3 =] *iet fepar o1 T
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5

"L‘_:e following information js available about 2
s nd

.q

Face value T Rs. 1000
‘Market price Rs. 1050
pected life ' ' 5 years
upon rate ' 8%
estor’s required rate of return: 10%

d intrinsic value of the bond if the interest is

R e ' 1000 3¢

' 1050 ¥
S P.T. O
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3. (a) Are Fundamental Analysis and Technical Analyg; |

mutually exclusive? @
o1 itfee e S dea fervam o |

(b) The following information is available about Ani |
Electronics for the year 2015-16:
Annual turnover | 60,0000 §

Operating profits ‘ ' 25%
~ Equity shqrc capital (FV=Rs. 100) 40,0000 |
Reserves ia 15,0000 §
12% Preference share capital 20,0000 |
10% Long term loan ' 15,0000 |
12% Debentures _ 10,0000 |
Tax rate | W0 |

40%

Dividend pé‘yout.‘_' ratlo |
LA : B

. % =
: B

4
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2015-16 & AU afi =k A
7 faao Suerey 8 o e

FRER 60,00,000
e 25%

. a:m TSt (FV=Rs. 100) 40,00,000
£ g 15,00,000
;Tr%:rmq AT it © 20,00,000

o refatas o 15,00,000
110,00,000
T | 30%
Jﬁﬁh T 23
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(b) The equity share of Zenith Ltd. s cur
trading at Rs. 50 The company (e :
dividend of Rs. 3 per share last year. It is expeqea .:
that earnings and dividends will grow at d

; the rate ;
of 10% p.a. for the next 5 years and the:ireafte

I at .'
constant rate of 7% p.a. forever, | t:

shareholders’ expected rate of return is 16%
intrinsic value of the share. Would you

buying of this share at the current market price? |

W fde & wwar afw ¥ W W 50 %o g
Wﬁ@%lmefwaﬁf3ﬁoqﬁram;
mwmﬁrﬁaﬁmmn%aﬁfm%hmw
AR FE T 5 9 TF 109 wfd o 5% gy
TeN SR TR 7% W A R} ww oy
Eﬁ?ﬂﬁﬁtﬁﬁlqﬁmmﬁq’fﬁm@
T R 16% ¥ X 3w = awafw o
AT | T AR T T 39 7 vy

Teny ';
i

) ﬁnd

1]
4. (a)

What is Efficient Frontier? How is an optimum |
portfolio selected from efficient portfolios?

T W 0 A 2?2 I Dt 2
STFAT TR TN T S @ 2 5|
(b) Find out fair Pfibe of the following securities .
using Capital Asset Pricing Model (CAPM) if.t-he
prevailing interest rate on Government securitics|

“is 7% and rate of return on market index is 10"/?:
Also mention which of these securitics
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irly priced, The
turns on thege

W

overpriced or underpriced of fa
ta factor and Estimateq re
cecurities are as follows: _

Sect rity ATH IR 5 D S0 -
:} Factor 1-00 1:25 1.70 1

; 50 1-60
Gstimated Returns 119, 10% 12% 11.59 12%
B

' % WWWWWWWW
WE S W oEE w79 3
ol WA R R 10% 317 h
& ST S w7 e w4, st
m%_ﬁmﬁ?ﬁﬂ?ﬁﬁﬁqqmm%
xm o Sl A T R

A

IS S SR T
fer e L e R Do
U et 1% 10% 12% 115% 12%

10

Or(
do stock options differ from stock futures?
m
o=y’ frg yor ‘=i afa’ ¥ fi= e
HHART | 5
months call option is available at a premium

S. 2 'per'share. Find out the net pay-off ?f thr-;
on holder as well as of the option writer if:

The exercise price is Rs. 50 and P.T.0.

Scanned with CamScanner



10
3174

il ice of the share op ¢

3 Z:: i:plg:. I;réfi{s. 50, Rs..52 Rs. h; Z’;edrcl.{s:
68. ‘

@3mmas‘faram2'goqﬁ%§

sifiem W 3T R | faEer-Eie .

AGEH & ﬁﬁﬁ{ L RIGIE BN aﬂm Zlﬁ:

(i) WIFQSO ®o ® qor

(i) T A A S A AR g 36

%o, §
%o, 52 ®0, 54 To AT 68 %o T

10

5. (a) “In every investment decision, the
risk-return trade-off.” Explain.

T AW Fola A P gy
ACAT-Iat (Trade-off) Brdt 2 | AL EI

(b) The earnings of RE Ltd. are CXpected to groy 4
~ the rate of 6% P-a. The dividend €xpected o

I hence is Rs. 2. The dividends
to grow at 6% p.a. forever. At
this share be sold to an investor
te of return of 14%?

RE Ido 30 ¢ 6% e o R Y ag d
aﬁm%@ﬁqu%mmmmlaﬁw

ICis ap inherey,

too are expected
what price should

having required ra
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O A T T sz 520 %o W fiifig
R NEH S A w1009 7o 3 B 2
Cor | ATTET it 16%_aﬁaﬁfma;a—raﬁma;
T I® 39Rh e 3 2

Or (3“'1?:!1)

rite short notes on any two:

5

~ Stop loss order

) NIFTY : -

;i-) Efficient Mafket Hypothesis (EMH)

i SEBTI's initiatives on investor protection.

' érmafwﬁfmﬁi%ﬁaq

- A AR HeheqA

1S provided: >

balance - 4,00,000
balance .' e 2,00,000
6 Debentures | 10,00,000
' P. T 0= /
S SR | |
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Equity shares (FV=RS- 100) 10

_ ,00,000
Accrued expenses 100 00
Number of outstanding units 2,00,003

10% debentures and equity shares are Curre,
{

trading in the market at 90% apq 12y

respectively.
Frey e SUeEd B TR S Ay
frae gwfa 9ed (NAV) (e

L | 4,000
d% AW S 2,00,000
10% 0T L 10,00,000
(FV=Rs. 100) &9l & 10,00,000
sqifefa =@ 1,00,000
ST SHISAl Hl HEA 2,00,000

10%Wsﬁtmmaﬁmﬁmﬁ%%
3t 120% W FAM: AMR fRA MR AL
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